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1. f(2) BB A6 NERXECHRN Y I 02 S 4. SREEICOX 21T Tk,
(SH40F>, AfK1720%, BIk2310%, C#H% 3% )

(1) flx) = 22 (—4,4) (2) f(z) =sinz (—m,2) (3) f(x) =|=z| (—1,1)
) flz)= % (—00, 00) () flx)=2"  (—o00,00) 6) f(z)=tanz  [0,00)
M fw="=L (g ®  fx)=lgz  [0,00) ©  f@)=1  (—o0,0)

© B - Bz L -9 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

fl)=1—a2+2?2

[(z) b7 Z o N X Tllfd £ 9 2225 A, fRIZFEICOX T TXn.

(SH508, Af15r35%, B#27308, C#3530%)

f(z) =cosz [—1, 27] (3)  f(z)=+v1-—22 [0, 00)
flx)y=2"" (—00,0) (6) f(r) =1+tan?x [—7, )
f(z) = log 2? (—00,0) (9) fz) =" (00, 0)
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EiEtE BEE o1

Fabl LBDAT ofifH, Z2#£7.
fak VREL B AZOHEIIE, 2£7.
Yo T, K (—00,00) & 13 2 BEBTHZ LV I ETH .
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1. f(z) BB 72 S5NEKETHED &) pE SR ERIEHICOX 2T TR,

(SH40F>, AfK1720%, BIk2310%, C#H% 3% )

f(x) Bz =a Tl < ;lir}lf(x) DBEEL, fla) &—BT 5.

WA DR —BT 5 2L THH 5.
W R E# L e — 0 MIEIC X 5.

1) f(x)=22 (—4,4) (2)  f(z) =sinx
O &z O &z
1) @)=L  (~o0,00) ) fl@)=2
X 5z O -&Z
LSl
r=0THZ LS5\,
M fo=2=L e ®)  f(o)=loga
X ER X  ER
Yo fla) = EFDE=ZD 4y SR B

r—1
EEZCGHEEE LTTWiT 2,

t#1Tf(x)=c+1THY,

fla) lFz=1TflEi%z L 5H0.

o c& 2 cE VLN, S8
HzZoni L EiE, 7R £ 0D EE
SNTVLEHDEERS.

BHESEMEED 240

(—m,2) (3)

O &z
(—00,00) (6)  f(r)=tanx [0, 00)
x EZ
Yo Bl

Bl Z1E x = %73: ETHZ L 57,

X BZ
pAgrdll

r=0DLE, % BARGET.
D 1T F(0) 1XEFEAR TEE,
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f(z) BHTZ 6N XETHlfin £ ) 9% F A, fiRIFHICOX T TXwe.
(S50, Af14y35%, B#25y30%, C#3530% )
1 f@)=1-z+2? (—00,00) (2)  f(x) =cosw [—1, 27] (3)  f(z)=+v1-—22 [0, 00)
o —-&Z o &z x o EZ
Yo B
r=2DLEBRLEIWRAVBAELLED,
flz) 3z & 57\,
(@) fl)=— L = (-39 (5)  fz)=2"%  (—c0,00) 6) f(z)=1+tan2z  [-m )
o &z O BZ X BZ
Yr<3&D, z#3 Yo A
xr = :l:%'@fﬁ%: EB R,
(7) f(x) = .’L:: [*13 1] (8) f(.’t) = 10g£[,’2 (70070) (9) f(SU) =" (OO, OO)
x o BEZ o &Z x o BZ
AP Yer<0DE EHEE 2. G
z=0TfEZ & 5%\, W ZAZ f () (H L N T, r<0DEE f(zx) BATE.

f(z)=2logz £ L TEHEHEZ S L BOEHEBEIIERTERLDT,

Ricizx s, flz) 3z & 57w,
Fatl3r=0DL EH{HZE
LoV ILICHRE AEETHS.
lim z* 3HEALEETSH 5.

r——40
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